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4( Kindly read below instructions before solving the Question paper: Ji

Ensure that you have received the Question Paper of selected Optional Subject.

Instructions :-

1. Candidate should write his seat number on Question Paper at provided place.

2. Total no. of questions are 150 for this paper & candidate will get 150 Minutes (Two & half hours) to solve 150
questions. All questions carry one mark each. All questions are compulsory.

3. For each questions there are four options given in question paper out of which only one option is correct.
Bubble the correct option from four circles given in answer sheet by Black/ Blue pen. Correct circle should be
completely bubbled. No marks will be given if circle is half bubbled, erased/scratched or multiple circles are
bubbled for same question. Once the circle is bubbled answer cannot be changed.

4. If question is cancelled due to any reason the eligibility will be decided based on the marks obtained against
the accurate question.

5. Do not write / mark answers in the question booklet. Do not separate / tear any section from the, main question
paper booklet.

6. The rough work is to be done in the area given.

7. OMR BARCODE no. & question paper SET CODE should be properly mentioned on Signature Roll.

8. Present your exam admit card if requested by the Supervisor / Invigilator.

9. Question paper contains below medium-wise sections.

Section Subject Question No. Marks
1 English 1 To 30 30
2 Marathi 31 To 60 30
3 Child Development & Pedagogy 61 To 90 30
4 Social Science 91 To 150 60

10.  While submitting your answer sheet to the invigilator, make sure you keep the carbonless copy with you.

11. Do not leave the examination hall without invigilators instruction.

12.  If Candidate takes any exam related material out of the examination hall during or after the exam, his/her
candidature will be canceled.

13. Do not bring mobile, smart watch, calculator, mathematical table or ready reckoner to the examination hall.

14.  Oncetheallotted exam time is over candidate is allowed to take the Question paper along with him/her. Providing
the copy / content of the question paper to any other person before the exam time is a punishable act & respective
candidate will have to face legal actions as per the provisions under “THE MAHARASHTRA PREVENTION
OF MALPRACTICES AT UNIVERSITY, BOARD AND OTHER SPECIFIED EXAMINATIONS ACT,
1982”

15. Candidate should remove the Question paper seal only after the exam time starts. No seal should be removed

before start of the exam time.
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Read the following passage carefully and select the most correct answers of the given questions:
(Q. No. 001 to 005)

Though it may be essential to the imagination, traveling is necessary to an understanding of men. Only
with long experience and the opening of his wares on many a beach where his language is not spoken,
will the merchant come to know the worth of what he carries, and what is parochial and what is universal
in his choice. Such delicate goods as justice, love and honour, courtesy, and indeed all the things we care
for, are valid everywhere but they are variously moulded and often differently handled, and sometimes
nearly unrecognizable, if you meet them in a foreign land, and the art of learning fundamental common

values is perhaps the greatest gain of traveling to those who wish to live at ease among their fellows.

001. According to the passage, traveling leads to -
(1)  exploiting foreign lands.
(2)  selling our wares to the others.
(3)  understanding human nature

(4)  establishing our superiority over foreigners

002. When we meet other people while we travel, we learn to differentiate between
(1)  friends and foes (2) communities and nationalities

(3)  local and universal values (4) 1imagination and understanding

003. The writer terms justice, love, honour and courtesy as delicate goods because they are
(1)  important (2) desirable
(3) fragile (4) perishable

004. Traveling helps those who
(1)  want to learn foreign language
(2)  wish to make money
(3)  want to resolve differences among people

(4)  wish to learn fundamental common values

00S. The things we care for are available in foreign lands in
(1)  plenty (2) unrecognizable forms

(3)  some form or the other (4) easily recognizable forms
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006.

007.

008.

009.

010.

011.

012.

Choose the sentence in which the correct articles are used :
(1)  The old are respected by the young (2) An old is respected by a young
(3)  Old are respected by the young (4) The old is respected by the young

Choose the correct ‘prepositions’ to fill in the blanks in the given sentence :

Don’t side those who act contrary national interest.
(1)  for, against (2) to, to
(3)  to, with (4) with, to

Choose the word nearest in meaning to the underlined word in the given sentence :
There was no ostensible reason for her being angry at her husband’s remarks.

(1)  Hidden (2) Covert

(3)  Apparent (4) Secret

Choose the word opposite in meaning to the given word :

‘Exasperate’
(1) Belittle (2) Annoy
(3)  Tarnish (4) Please

Fill in the blank with the appropriate passive form of the verb from the alternatives supplied :

He a written test before he was appointed.
(1)  had been given (2) has been given
(3)  will be given (4) was given

Choose the correct alternative to fill in the blank :

I if [ were you.
(1)  will apologize (2) had apologized
(3)  would apologize (4) was apologizing

Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.
The old man said to him, “Is your father’s name Manoj?”

(A)  The old man told him whether his father’s name was Manoj.

(B)  The old man inquired whether his father’s name was Mano;j.

(C)  The old man asked him whether his father’s name was Manoj.

(1)  Only ‘B’ is correct (2) Only ‘C’ is correct

(3) Both ‘B’ and ‘C’ are correct (4) Only ‘A’ is correct
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013. Identify the figure of speech in the following line :
‘O grave ! Where is thy victory ?”
(1)  Personification (2) Apostrophe
(3)  Euphemism (4) Epigram

014. Identify the part of the sentence which has an error.
He is well up / these days despite / having ill health / No error

A B C D
1 A 2) B
3 C 4) D

015. Name the underlined ‘clause’ in the given sentence :

We come here that we may study.

(1)  Adverb clause of place (2) Adverb clause of purpose

(3)  Adverb clause of supposition (4) Adverb clause of cause

016. Choose the one which is the correct ‘Question Tag’ for the given sentence :
‘Everything is fine’.
(1)  1isn’t everything? (2) isn’t this?
(3) isn’tit? (4) isn’t that?

017. Choose the mis-spelt word :
(1)  Asterisk (2) Audience
(3) Acrue (4) Almighty

018. Choose the alternative which best expresses the underlined phrase :
He is out and out a reactionary.
(1)  deadly against (2) 1in favour of
(3) no more (4) thorough

019. Select the combination of numbers so that alphabets arranged accordingly will form a meaningful

word :

A S K 1 R H

1 2 3 4 5 6
(1) 264315 (2) 543126
(3) 513426 (4) 312645
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020.

021.

022.

023.

024.

025.

Select the combination of numbers so that the parts arranged accordingly will form a meaningful

sentence:

1. engaged in other 2. they are 3. because 4. it is difficult
5. servants in big cities 6. to find man 7. profitable professions

(1) 4617352 (2) 2534671

3) 4653217 (4) 7132546

State what part of speech is the underlined word :

She likes the same colour as I do.

(1)  Adverb (2) Relative pronoun
(3)  Preposition (4) Conjunction

What does the underlined modal auxiliary express?

If it should rain, they will not come.

(1) Supposition (2) Duty
(3)  Suggestion (4) Advice

Which of the following pairs is not correctly matched as ‘one - word substitution’?
(1)  Absence of government - anarchy

(2)  Government by the nobles - autonomy

(3)  Government by one - autocracy

(4)  Government by the officials - bureaucracy

Choose the grammatically correct sentence :

(1)  The population of London is greater than any city in India

(2)  The population of London is greater than any other city in India
(3)  The population of London is greater than that of any city in India

(4)  The population of London is greater than most other cities in India.

Choose the correct alternative :

(A) Canvass shoes are no longer in vogue.

(B)  Candidates are not allowed to canvas for votes on the day of the election.

(1)  Only ‘A’ is correct (2) Only ‘B’ is correct

(3) Both ‘A’ and ‘B’ are correct (4) Both ‘A’ and ‘B’ are wrong
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026.

027.

028.

029.

030.

Choose the odd man out :
(1)  Trousers (2) Alms
(3)  Scissors (4) Innings

Choose the alternative which best expresses the meaning of the underlined idiom :
Monika’s habit of picking holes in every relationship is very irksome.

(1)  Admiring people

(2)  Finding fault

(3)  Criticizing people

(4)  Arguing with people

The specialist who cares and treats feet is -
(1)  Osteopath (2) Orthopaedist
(3)  Chiropodist (4) Dermatologist

Which of the following is a rhetorical question?
(1)  Should a school have a gymnasium?

(2)  How should one keep oneself physically fit?
(3)  Isn’tit a shame to torture the weak ?

(4)  What is demonetization?

Choose the correct simple sentence for the given sentence.
He finished his exercise and put away his books.

(1)  Having finished his exercise, he put away his books.
(2)  He finished his exercise by putting away his books.
(3)  To finish his exercise, he put away his books.

(4)  In spite of finishing his exercise, he put away his books.
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(1) < o (2) eI Uy (3) amy arEw (4) ofiETead TRl
032. TIGHMIWTIER 3T<eh I6G IV ?

(1)  Yueehto (2) Yu= (3) g (4) YuFh
033. @, @, d, @, o, A1, d 8 favediacr siven faveda sma?

(1)  fgetEn-—geran (2) gefrm-=geft (3)  Tgetar—=geff (4) goHI-Hale
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(1) ¥ Amed (2) Fd FHTER (3) @ g (4) ©d IG HEHS
038. 3cohe WIGHT ¥ad ShidMT ol SRV Sear=al Aadl v feumfas o=ima ?

(1)  smERofeg (2) Sgmfar (3) g (4) R
039. I-I-F-F § 0T FHIR I I ?

(1) Sgas (2)  YgSETYETA (3) aHafdete (4) wfert
040. STHITAT IUHAT IUAT feefl ST gt ivrr TR gidl ?

(1) g (2)  AfermTeRdt (3) o™ (4) 3=
041. faEr= &1 =hivren W AEivE 3T ?

(1) ey (2) gm (3) wATTH (4) =
042, WG A1 AT T TGRINUT ShHIvTd ?

(1) ENER (2) dfssh (3) R (4) wER
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(1) e (2) 3T (3) eAeE™ (4) et
049. feoieht wgw qof 0. ‘ot @l S @

(1) Ul == (2) e Fa

(3) el St (4) T TS

050. ‘TETfEE’ A1 TICHTE TG hIvl?
(1) fa. 1. Rraew (2) TSR
(3) Uk W (4) TR AU

051. ‘UIs¥ gdidicd ISl T HIIEURTS hell hivl ?

(1) ¥afa wrerr (2) fogser am (3) W we (4) 7=
052. HEIUTIH TIoaEd AT,

(1) =h (2) ZEam (3) @@ (4) Taa
053. AU TEUITS Shi ekl IcTHefict SFTe. eI STeRE.

(1) hacEE (2) wgFaEER

(3) fusramr (4) STREIE
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065.

066.

067.

ATAATIHIME d AJTYA/MNTEA
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(2) e Sfeeumifasi=h Heae Sofla e gae

(3) e 3fcgye fawiiel 9 80 TS "o

(4) e SfcguehTiREr Hee B0 el ATE.

UG ST Y grdl a1 SMeh! 9 UPEH! A1 I BIA STEAl AT GHTIETETAT FEUvATe @it
bl hivrd faem= gt o A ?

(1) Hdean 319 AEAHT ARl 9 ITEayHT A1 gl M8} foema sarean arTna.

(2) IR TEEEA HA Fdd HIAMT haed I el IRAYH! A& 9 T F4d.
(3)  wIhdt @ U ATG SEA B1S Wkl

(4) &1 9CA TIHT U AT, T THEUTER e Il

I I FHR FHAHT 1 S e Ao BA:=ege 3H @I ot Uit g . iom fowit wret feete
faemed v fgem = TEre

(1) gfqmr qor SoamEEt ot e Hadian 3|0 STTavds TR,

(2)  wfdE TR BT AREITE diede g,

(3) S wreaEt dled! aadEn JfHT SE gidar.

(4) Sz Tgw Bon= Haeeh gfem Frifed sEar.

AT ST ST, o AR SURO!, TR, YARddieal T & Hd 3gTell WIeiiadeh! Shed=<al ShivfeT
ThId IdTd ?

(1) dicdfs wHeo (2) sAfrely e

(3) =HaEINEh HouT (4) YTRHIES Heudl

‘qatqyaren fafay =l TeTden wAd Joar-ged U TN foar w0 g 3T Td Wiefierdshl
IV HHERTERT g 37T 7

(1) T (2) W=

(3) . wm. T\ (4) <0 T "=
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061.

062.

063.

064.

065.

066.

067.

CHILD DEVELOPMENT & PEDAGOGY

Which of the following statement is correct about growth?

(1)  Growth is indefinite in nature.

(2)  Growth is hereditary

(3)  Itis not necessary that growth will occur according to the chromosomes during conception

(4)  Growth does not control the biological structure built up with the help of chromosomes.

Which of the following statements about motor development of infants incorrect?
(1)  An infant does not have emotional world.

(2)  The behaviour of a child is affected by the behaviour of his parents.

(3)  Growth of movements in children occurs from feet to head.

(4)  Children have intense memory.

Which of the following statement about sensation is not correct?

(1)  Sensation is primary mental process concerning external stimulus.
(2)  Sensation means only awareness of the external stimulus.

(3)  Sensation is getting knowledge about external stimulus.

4) Sensation is not possible without external stimulus.

Our perception occurs in the nature of figure and background. Which of the following statement

does not support this opinion of Gestalt psychologists?

(1)  While giving meaning to sensation, both figure and background have to be taken into

consideration.
(2)  Considering only the background while giving opinion about some object is not needed.
(3)  There can be change in figure and background.

(4)  This change is dependent on the person who is getting the experience and the nature of

the object.

When an object comes before our eyes even when the object is not there, then it is called imagery.

Which of the following statement is not correct about imagery?
(1)  Previous experience is needed for forming imagery.

(2)  Images formed are all of the same intensity.

(3)  Images become blurred as time passes.

(4)  Images are related to sensations retained by sense organs.

Which of the following type of imagination includes building bunglows of playing cards, building

palaces in air and stories of fairies and ghosts?
(1)  Aesthetic imagination (2) Fantastic imagination
(3)  Pragmatic imagination (4) Productive imagination

“Thinking means arrangement of various aspect of previous experiences in mind”’. Who put forth

this opinion of thinking?
(1)  Stern (2) Stout
(3) J.S.Ross (4) Norman L. Munn
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068.

069.

070.

071.

072.

073.

074.

075.
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(3) ¥ ®oNTg (4) =1, 9, % AT ©
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q fowre 3-4 9l fooiel sEa@. <mE . TEudM.

(1) @ AfyEgE (2) R AfEgH
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068.

069.

070.

071.

072.

073.

074.

075.

Following are some statements about thinking process. Which of the following statement does

not explain educational importance of thinking process?

(1) Do not establish relation between an event and its cause by coincidental judgement.

(2) It is unnecessary to use the maxims like 'known to unknown' and 'concrete to abstract' for
concept formation.

(3)  Let the students think critically while studying theorems in geometry, observation in science,
historical events and geographical conditions of various countries.

(4) It should be seen whether there is enough material for making inferences.

Guildford has arranged 120 factors of intelligence into three groups. Which of the following factor
is not included in the group "Operation"?

(1)  Cognition (2) Memory
(3)  Evaluation (4) Method
Gessel has emphasized on __ while explaining the concept of development.
(1)  Characteristic (2) Maturity
(3) Learning (4) Effect
is a formal teaching method
(1)  Instruction theory (2) Bruner’s theory
(3)  Socrate’s theory (4) Normative theory of teaching

The pioneer of cognitive theory of teaching from the group of Normative theories of teaching is

(1)  John Dewey (2) N. L. Gage (3) Socrate’s (4) Herbart

Following are factors affecting personality is a psychosocial factor.
(1)  Physical weakness (2) Culture (3) Heredity (4) Physique

A teacher has to think about both heredity and environment while thinking about human

developmental aspects.

Which of the following statements support the above statement?

(A)  To provide suitable environment to students coming to school from different environments
in order to develop their inmate powers.

(B)  To provide subjects by considering each child’s inborn qualities and talents.

(C)  To enable the students coming from poor and backward classes to progress by providing
suitable environment.

(D) To enable teacher to select suitable teaching method for teaching the students and
understanding their cognitive level.

(1) A,BandC 2) A,CandD (3) B,Cand D 4 A,B,CandD

The process where the subject does not have full freedom of behaviour, that is he does not have
full restriction but has limited freedom and the subject has been given 3-4 options of behaviour,
then it is called

(1)  Instrumental conditioning (2) Motor conditioning

(3)  Classical conditioning (4) Temporal conditioning
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076.

077.

078.

079.

080.

081.

082.

083.
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TeAledl 9 TR I fecten wrafie gigaa=n gehrdie sterufadt a1 geshla Wiefietish! hivar 379
guTfas T8 ?

(1)  ATHf==T (2) ITH ATCHINE

(3)  emcHfowamd (4) R Softe

HHEe U Al RIS GIeardeh! HIvdT GI™ IuFF Ta! ¢

(1) ooui=a HROMIED e . (2) TEyE JHhT HRO e,
(3) oS MYlaed fo=mr sar. (4) WIS i Foar ST,

oIy e StEcie rEEATeAieA dTedid Wieldeh! hivd! STd I 378 ?
(1) = faeneata adq gdamT=EReE 37ed.

(2) = foeneAtardl v IUHT TS THTA.

(3) = foqeneata geamT= fregor Syawd AMET odT A4 AT

(4) = faeneatardt a9 AT FAATHHAT T&AT STETEl.

TN R Uit 37 ¥hd AT STeid @Il foied S Jedgd ard Sier=n gt |

A B
) | areEE 1) | wE M Sl YFH hell dE TSI,
) | SuseTEEn i) | =l el HEqEAEH TS
%) | SATETEER i) | 1l MY AUATAT ThT AT,
(1) 3 —ii,d —iii, s —1 (2) A —iii, g —1,% —ii
(3) H—i,9 —ii,% —iii (4) 31 —ii,9 -1, —iii
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076.

077.

078.

079.

080.

081.

082.

083.

In order to give specific shape to human and animal behaviour and to give specific incentive

for specific behaviour, for eliciting expected behaviour from the learner, type of
teaching is useful.
(1)  Indoctrination (2) Instruction (3) Training (4) Conditioning

Classifying personality based on the secretions of the body in four classes viz - Phlegmatic,
Choleric, Sanguine and Melancholic was done by

(1)  William Sheldon (2) Carl Jung (3) Kreshmer (4) Hippocrates
Analysing the subject by understanding its principles, studying rules and formulae of various
subjects and actually preparing the rules and formulae are the aspects of of transfer of
training.

(1)  Theory of generalisation (2) Theory of formal discipline

(3)  Theory of identical elements (4) Bagley’s theory

Which of the following alternative shows the correct sequence of motivation cycle?
(1)  Attempt, Need, Restlessness, Satisfaction, Keeping balance.
(2)  Restlessness, Attempt, Need, Keeping balance, Satisfaction.
(3)  Need, Restlessness, Attempt, Keeping balance, Satisfaction.
4) Restlessness, Need, Attempt, Keeping balance, Satisfaction.

Which of the following is not included in the factor “Self awareness” of emotional intelligence
proposed by Salovy and Meyer?

(1)  Self control (2) Accurate self assessment
(3)  Self confidence (4) Emotional awareness

Which of the following alternative is not useful for decreasing mental conflicts?
(1)  Stay aloof from the very reasons of conflicts.

(2)  Find out the exact reasons of conflicts.

(3)  Think about the things that are avoided.

(4)  Take advice of elder person.

Which of the following aspect about the learners with special needs is correct?
(1)  The behaviour of these children is normal.

(2)  There should not be different activities in school for these children.

(3)  These children cannot be absorbed in the normal education system.

(4)  There should be independent and different curriculum for these students.

Retention occurs at various levels. Following are given levels and retention information. Which
alternative shows the correct pairs?

A B
(A) |Cognition state 1) |Some things are recalled after small attempt of remembering

(B) |Semi cognition state |ii) |Some things are recalled with great difficulty

(C) |Non-cognition state |iii) |Some things are recalled quickly
(1) A-i,B—-iii,C—1i 2) A-iii,B-i,C—ii
3) A-1,B-ii, C—iii 4) A-i,B-1,C-iii
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084.

08s.

086.

087.

088.

089.

090.

ST TETE LI Uhle LI S IISTaEia TEREaY, HRISRU Tag 3. de AL

U3 TR hel I AT ATl TN HIOATT TET AT T M Tdrenn T wgorn.
(1) =it (2) e

(3) drchITcte (4) g

TAfIeuT, A, TRl € Wieietishl v smyfaeh fareqor gl STemyg decd 31Ted ?

(1) o ggdt (2) Sreed ugd

(3) e g (4) T FeE

TRIST STH e, TGl farean fhar TuEe 3131 ga=a1 e ieal |ii—~eard Tgd, fo=n stmaer
a8 Tey 31e fohan foeameft oTaet A1d oTTg o8 WrEET ITuel 3ufla SrehvaTE 9 W1 aTeauaTE Siegt

(1) wifeqger (2) foreamm
(3)  ATCHATSU (4) dreres

T I STNE 7 I SHVAT We, Aifed 3. R fided Sed e S aan
B JTAq S Hd Higd HEaaigal ORI Jele Ul U Siefieiehl o JrEeEs
|G et 7

(1) A i (2) W FE

(3) oHeES (4) fepm

. smieeim I wme fhar fosm o fawemean steamTETdt Sfvr foEneAte qehslg fommEn fasm
BIUATHTS! @TetTetdehl hIvrdt Tgd! e higet ?

(1) = (2) g

(3) @smER (4) =mEH

fepTt= T ga ST Fhed UEUIT Rl I Jaaliehtvl = B0l I1 Heuid Wiefierdshl shivrd faem
A TR ?

(1) Yol T g/ SRV AT J9Td STH0,

(2)  woIe foemedt< teRH WA U@ gl 9 Ul ST,

(3) I GehTeAT TG WG 3TE0,

(4) oI AT UGl W heATE Yele o =T Bl

@redl &9 3urm ST Al gefid SeETdid Ben foden SR, A A Siea= 93 hiordn ?

IUTTH CUME]

) | ggrrt A) | sy formeff Stadm.

i) | sf=gfdt B) | se foetes 3.

iii) | wpepTiedt C) |ama g 3 faumefl smm stfaam.

(1) i-3A,ii—d,ili— (2) i—-9,ii—%,iii—3
3) i-%,ii—-9,iii—3A (4) i—9,ii—3,ili—%
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084.

08S.

086.

087.

088.

089.

090.

When a topic is studied by understanding the internal relations as well as cause and effect relations
and if after a period of time this particular unit has to be recalled then this type of memory is

called as memory.
(1)  Rote memory (2) Rational memory
(3)  Immediate memory (4) Prolonged memory

Which of the following teaching method shows the principles of self learning, independence and

cooperation?
(1)  Vinetka method (2) Dalton method
(3)  Project method (4) Gary scheme

When an individual tries to stay in the viscinity of prestigious person and tries to show that he is
very close to him thereby trying to hide his own short comings and increasing his own prestige,

then this is called as type of defence mechanism.
(1)  Compensation (2) Displacement
(3)  Self punishment (4) Identification

‘New experiences mingle with the old ones as per the laws of similarity, proximity etc and form

links.” Who put forth this opinion and put forth the theory of Apperception based on associationism?
(1)  John Lock (2) John Herbart
(3)  Thorndike (4) Skinner

Which of the following method was proposed by Dr. Armstrong for teaching science subject and
development of reasoning power of the students?

(1)  Seminar (2) Symposium

(3)  Meuristic method (4) Lecture method

According to Skinner the main reason why students lag behind in studies is that there is no
reinforcement. Which of the following statement is not correct with reference to above statement?
(1)  Lack of encouragement is a reason of no reinforcement.

(2)  The learning capacity of every student is same standard and level.

(3)  Lack of revision of learning units.

(4)  Reinforcement is done properly if there is facility of personal learning method.

Following are given two columns. Match them and tell which alternative has the connect pairs?

A B
1) Pedagogy A) | Content is decided by students
1) | Androgogy B) | Content is decided by teachers
ii1) | Mutogogy C) | Content is decided by teachers and students
(1) 1i-A,ii—B,iii—-C 2) 1i—-B,ii—-C,iii—A
3) 1i-C,ii—B,iii—A 4) i—-B,ii—A,iii—-C
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091.

092.

093.

094.

09s.

096.

097.

HTHTNTSR I

AT TS sl -
e A T T
) | T 1) | fafeam
¥) | HifcaeE i) | iy
%) | Sitaeh i) | yaEa
(1) A -1,9-ii,% - iii, (2) & -1iii, s - ii,% - i,
(3) A -1ii,d - iii,® - i, (4) A -1i,9 -1, - iii

T : WAl (HEAUC) ¢ : ISP ¢ 7

(1) fer (2) ITIW (3) WEWSS (4) TR

Jq HEIY, Tehled, WEH A HEE Fifad.

(1)  Foor9eri= (2) THYET (3) Tavd= (4) fogaved=
fRrarsht HERIe st ST e sfivdiTeR Sivdd T e @, | wiaa g
1 U ISR TR,

(3) dfgwy gro (4) waTaETER SO

i) M SHEdTEETET STeqaia Gorm AferdfdE ATe et THa.

ii) FT=T AfTRR AIgd FIQUAHS! STTSEM TSYA 3Tehal AT ARATSHE TTea. Sl Jui HioT= 3178 ?
(1) g™ Ters (2) orchad @=

(3) e dwwh (4) 3TEHGRIE IHegTedt

WA B A TS STl FHISTE TeT GUlesd =, TV ST €6d - el S99 TG Hd. e
FHATAEEE T e fmivr id. ot $veted g7 U GMIiieh U fFmfor smereft wa.

71 fagam=a I TS,
(1) =gfeesn (2) wiw
(3) = (4)  ofTd S

TS B AT 3Ieasieh HIgH H&H 4e A3 Iehel ATard HRU —

) 3US THRE] UTSET Togdl.

§) YA ISR RG] ST 39 Tegdl.

%)  HREM & HOAEE] IR IeASThiehe edd Togd.

(1) woad faum 7 9 9 9= (2) wud faum & T ® I™
(3) wwd faum & 9 ‘& A (4) <=E faam ==
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091.

092.

093.

094.

095.

096.

097.

SOCIAL SCIENCE

Match the pair -
Group A Group B
A) | Charaka 1) | Bimbisar
B) | Kalidasa i1) | Kanishka
C) | Jeevaka iii) | Pravarsen
(1) A-1,B-ii C-iii, 2) A-ii,B-ii,C-1,
3) A-i,B-ii, C-1, 4) A-i,B-1,C-iii

Avanti : Malwa (Madhya Pradesh) : : Ashmaka : ?
(1)  Bihar (2) Uttar Pradesh  (3) Maharashtra (4) Guyrat

Chaitanya Mahaprabhu, Shankar Dev, Surdas Preached importance of .
(1)  Krishnabhakti (2) Rambhakti (3) Shivbhakti (4) Vitthalbhakti

“When ageing Kanhoji Jedhe fell ill, Shivaji Maharaj told him not to neglect his medicines or

treatment, on any account” this is an example of quality.
(1)  Caring of raiyat (2) Organisational skill
(3) A policy of tolerance (4) The inspiration for freedom

1) He crowned Jasawantsing’s minor son Ajitsingh as king

i1) To crush his resistance, Aurangzeb sent prince Akhbar in Marwad. Who’s elaboration is this?

(1)  Durgadas Rathod (2) Alivardikhan
(3) Banda Bairagi (4) Ahmadshah Abdali

Man is born free, people voluntarily impose upon themselves certain restrictions so that the
society may function smoothly. They create government machinery for the implementation of
these restrictions. It is not divine or god-given but is created through social contract. This theory
is put forth by

(1)  Voltair (2) Montesquieu

(3)  Rousseau (4) Thomas Jefferson

Indian entrepreneurs could not come forward in large number because -

A) of lack of government support.

B) of lack of experience of management.

O) of lack of capital to start industries.

(1)  only statements A and B correct (2) only statements A and C correct

(3)  only statements B and C correct (4) all statements correct

Q.B. Series - 202 English/Social Science (Set - A) 19 of 32



098. HeWl foged TSl R At 99 g yeAforgy uitg W

(1) @ (2) ¥ (3) @@ (4) AR
099. STEUCTR Jdciied WIdai= Ufige TIGTE hIvIThIuTd et ?

(1) Hoet 9 sl (2) goet 9 e

(3) fromemeET @ mfeesman (4) goaa 9 WIS
100. W:Waw::daﬁguﬁwz?

(1)  for (2) wgee

(3) weRTE (4) EEpa SR

101, I SN Jooa -

T A T
) | = AN ) | =weA 14 uguden sy

q) | e @™ "wEHr | 1) | gEwn AY I HE

%) | TETAGE S Si i) | fordtr Fre qUdaca @ @
g) | . Teeyg fust | 1V) | AigAeicEl Y IceH wH

(1) 1 -4,9-1ii,% - iii, § - iv (2) T -iv, & - iii, - ii,8 - i

(3) H-iii,d9-1ii,% - 1,8 - iv (4) 3 -1iii,d - ii,% - iv, 8 - i
102. 3RfeoRA TEcq HAAA A=k FQUE _ T Iiege fHesTett.

(1) &4 31 Mg (2) o9 = (3) I=E (4) 3t

103. e 9 SHU Yee @,
BT, UgTeh, HichaTenall, THE

(1) == (2) gk
(3)  wfemamegatt (4) oimg o
104, UM Hefier EEYEET TRUTTd.
(1) ussh (2) <= (3) ey (4) W
105. ©1S 9% ¥edaes _ AY el
(1) i (2) femarsa (3) = (4) cferor emiishert
106. ISl T ST hIVCAT < hedl ?
(1) i (2) e (3) TE (4) U=
107. faspriepceita, fidier, quumm@Ee), AHEed™ § U9 iUl SUuaT=a] Hidld qai 9 ?
(1) RemEr (2) =T (3) TsgRe (4) dTRICh
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098. Mabharshi Vitthal Ramji Shinde organised a conference at against practice of ‘Devadasi’.  §5¢
(1)  Pune (2) Mumbai (3) Satara (4)  Kolhapur ggz

099. Between whom was famous battle of Bhatwadi fought? O¢
(1)  Mughals and Adilshah (2) Mughals and Nizamshah Yo ¢
(3)  Nizamshah and Adilshah (4) Mughals and Marathas x5

100. Rasaratnakara : Chemicals and Metals : : Panchasiddhantika : ? &€
(1)  Mathematics (2) Ayurveda o
(3)  Astronomy (4) Sanskrit Grammar

101. Match the pair -

Group A Group B

A) | John Marshall 1) | invention of carbon 14 system

B) | Dr. Dayaram Sahani | ii) | excavation at Harappa

C) | Rakhaldas Banerjee iil) | head of archeological department during British era

D) | F. W. Libi iv) | excavation at Mohenjodaro

() A-i,B-i,C-iii, D-1iv 2) A-iv,B-iii,C-1ii,D -1

3) A-ii,B-ii,C-i,D-1iv 4 A-iii,B-i,C-iv,D -1
102. received immense popularity as a hero of famous book ‘Arabian Nights’.

(1)  Harun-ul-Rashid (2) Abu Bakre (3) Usman 4) Al

103. Find the odd man out -
Dante, Petrarch, Machiavelli, Thomas Moore
(1)  Dante (2) Petrarch
(3)  Machiavelli (4) Thomas Moore

104. Business families in Japan are known as .
(1)  Meiji (2) Jenro (3) Zaibetsu (4)  Shogun

105. Mau-Mau movement was organised in .
(1) Kenya (2) Zimbabwe (3) Ghana (4)  South Africa

106. Which country broke Yalta treaty?
(1)  America (2) Russia (3) England (4) Japan

107. Vikramankdevcharita, Mitakshara, Pampa Ramayan Manasollahas were created during reign of
which dynasty?
(1)  Shilahar (2) Chalukya (3) Rashtrakuta (4) Vakataka
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108.

109.

110.

111.

112.

113.

114.

115.

116.

‘SEisq Ik gfear g a3 g® ohal.

(1) e st (2) TorOTTE A

(3)  wEUES HAEH (4) = fgaem ufee
ﬁw:mw::w:?

(1)  w=grenn mefsh (2) TSfa e

(3)  gfew meft (4) dfed SR TE®

Tora Aeftet fosenfirered stehete 9T STEeR™ okl

(1)  deig grars (2) FEHAR (3) darEEA (4) T feheat

B TS Thal I A U IR Jdl : SRR : : T [G9SH B 9 o1 31 TS TR
g ¢ ?

(1) 3 (2) e

(3) ey (4) ==

(1) =¥ (2) chdea

(3)  eeErE (4) e

SHder forrfsRda Tearft wEd B Ao HagER el Saen Sar. a FRUTT.
(1) SS9 (2) wEHq

(3) Sg=s (4) vcATEEH

g FHIIE T FAT heT.

(1) S wifea (2) g 9aR

(3)  whrefim (4) wTBERE 3R

T WS AT, Tohoft, weelfa =1 <ummd 7 TIhMEr aed quidul dTesel SATd el
(1)  Feveorh fFereos

(2) HEfRE WERdTU®R 9 Yo Hare §0H qod

(3)  eifaaern

(4)  <repufafefiar fofmen sifepr

JATIAT <IN SO AT RO —

(1)  Tsgudt, ITTSEHH, TaTE™ AT TSR HU[h STeicdl SAfdd Scdel aT TTHL N Alhihgd fHage
EIGIGH

(2) TEd:En 9 gETSTET faeE wuart et anTiesET g 8.

(3)  ZuIT=AT USIhRINIG hivATE! O, HYSH M= g&daid Tadl.

(4) 9 Gfgam @i aRadar dreE o,
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108.

109.

110.

111.

112.

113.

114.

115.

116.

Periodical “Voice of India’ was started by .
(1)  Dadabhai Nawroji (2) Firozshah Mehta
(3)  Behramji Malbari (4) Sir Dinshaw Petit

Vijaybhumi : Lalbahadur Shashtri : : Veerbhumi : ?

(1)  Mahatma Gandhiji (2) Rajeev Gandhi

(3)  Indira Gandhi (4) Pandit Jawaharlal Nehru

Akbar built to celebrate victory in Gujarat.

(1)  Buland Darwaja (2) Qutubminar (3) Tajmahal (4) Red Fort

A nation is created by smaller political units coming together : USA : : A state is created by
division of a country in two or more states : ?

(1)  England (2) Shrilanka

(3) Bangladesh (4) China

were not mentioned in the constitution of United States of America by the makers of
the constitution.
(1)  Rights (2) Duties
(3)  Responsibilities (4) Restrictions

The people are involved in the decision making process and the decision is taken often knowing
the public opinion. This is known as .

(1)  Initiative (2) Referendum

(3)  Plebiscite (4) Recall

Bahujan Samaj Party was founded by

(1)  George Fernandis (2) Sharad Pawar
(3) Kanshiram (4) Balasaheb Thakre
The principle of democracy namely, _ is not practiced fully in countries like United Arab

Emirates, Fiji, Estonia.

(1)  Free and fair elections.

(2)  Universal Adult Franchise and one vote one value

(3)  Secularism

(4)  Elected representatives have power of making final decision.

Our country is a republic because -

(1)  People who hold positions like the President, the Vice President and the Prime Minister
are elected directly or indirectly by the people.

(2)  Citizens get the opportunity to develop themselves as well as the society.

(3)  No religion or sect interferes in the affairs of our country.

(4)  The constitution is an instrument of social change.
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117. &OH fOm= @ HE 99 3gfse TTed HuamErd! Thd Jard I™ TEUTAT.

(1) I @A (2) arqed WA

(3) HHT WA (4) @ @A
118. TS@Y WP Ii=d1 HE=vmEre Jmed.

(1) |y

(2) G

(3) g

(4)  Uagu™
119. YRR GfqeHde 3g=sg 51 aed foweft amiee o=,

(1) wmead qed (2) W T

(3) wwrg gr (4) ©eH T TRIEH
120. WeRrserd e . oo uftwer e,

(1) 33 (2) 34 (3) 35 (4) 36
121. SEcid HETa gedt SRl HR IR,

(1) forgereen (2) v

(3) e (4) e
122, eSSl SHEUN STATSROMT= 2

(1) fodamer (2) qUTER

(3) HeR (4) 3R

123. STTRINNG Tald dore fegoma g

(1) 3 (2) W
(3) T% (4) &
124. IJO9 9 AThehT a1 WS GUAE FHT THg
(1) ol @gg (2) TR ITERR
(3) dieer Tgg (4) ymed vy
125. Wedgeh / f31eTeh ¥ Wiefictdeh! shivredl SIa@mETd SuTfese gloT ?
(1)  wnufies sgaom (2) el s
(3) g HIE™ (4) =qds FaE™
126. 37CHM ¥Yg & €T GHg AT SISV gy 1d |,
(1)  dlosh GHgEHT (2) TR AHGEH
(3) el gyt (4) fommeet amgy
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117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

Likeminded people come together to attain certain common objectives. This is known as

(1)  Freedom of profession and trade (2) Freedom of Residence
(3)  Freedom of Association (4) Freedom of Assembly

The Rajya Sabha functions under the supervision of
(1)  The Chairman

(2)  The Chief Justice of Supreme Court

(3)  The President

(4)  The Prime Minister

Article 51 of the directive principles of the constitution of India guides about

(1)  Sustainable values (2) Urban facilities

(3)  Foreign policy (4) States administration
Currently there are __ Zilla Parishads in Maharashtra.

(1) 33 (2) 34 3) 35 4) 36
Atthe _ the earth is bulges.

(1)  Equator (2) Latitude

(3)  Tropic of cancer (4) Tropic of Capricorn.

The layer of the atmosphere closest to the earth's surface is called the
(1)  Stratosphere (2) Troposphere
(3)  Mesosphere (4) lonosphere

The brightest planet seen in the sky is

(1)  Mercury (2) Mars

(3)  Venus (4) Jupiter

The ___ sea lies between the continent's of Europe and Africa.

(1)  Arabian Sea (2) Bay of Bengal

(3) Red Sea (4) Mediterranean Sea

Professor / Teacher occupation is which type of occupation of following?
(1)  Primary (2) Secondary
(3)  Tertiary (4) Quaternary

Name the strait which connects Andaman sea and Jawa sea?
(1)  Palk strait (2) Malacca strait
(3)  Magellan strait (4) Gibraltor strait
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127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

ARAH 1969 Hed afgetm e YT FIsAl.
(1) @ (2) sfediprer
(3) g (4) &g
THTTAA TN T T3 T3 AT S 7.
(1) &9 3@ (2) #e 3am”
(3) afgdsh AR (4) g 3R
gedi=al AT THEIH E| Gisl 3TTewdrd.
(1) focferr o gxfem (2) Tt 9 <iig
(3) Tocfiem 3 g™ (4) <8 g HHe™
Grefld gddieh! 7T Jad hIvIdT 3178 ?
(1) fewe™ wda (2) e &
(3) U scieh BiEe qad (4) bl v=a
T o AISTUATe Teheh
(1) & (2) fufeem
(3)  foefiex (4) @R

B BUTANT @S 37T,
(1) == (2) wHEe
(3) TR (4) TS

TR TSI GTRaIAT T Haid Ald T :

(1) =g (2) wdwTe

(3) wwEE (4) TSEAH
Grefierdeh! 3naeht ydardia Fafq 3= forew

(1)  Tsfmr (2) gTTe

(3) =l (4) hoaess

(1) fafrerra s (2) e

(3) HHR e (4) e s
HATCHIAA It Tdlaia gaes .

(1) = geeen (2) YaiER e
(3) ST ErwEr (4) freEgn gaga
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129.
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131.

132.

133.

134.

135.

136.

In 1969 India launched the first rocket from .
(1)  Bangalore (2)  Shriharikota
(3) Thumba (4) Hyderabad

If the contour lines are close to one another, the slopeis .
(1)  Uniform slope (2) Gentle slope

(3)  Convex slope (4) Steep slope

The inner core predominately comprises and .

(1)  Silica and Magnesium (2) Nickel and Iron

(3)  Silica and Aluminium (4) TIron and Magesium

Which is the Block Mountain in the following?

(1)  Himalayas Mountain (2) Alps Mountain
(3)  Black Forest Mountain in Europe (4) Rockies Mountain

Name the Unit of measuring the magnitude of a earthquake
(1)  Richter (2) Millibar
(3) Millimeter (4) Centimeter

is a metamorphic rock.
(1)  Shale (2) Basalt
(3) Marble (4) Granite

In India with reference to largest area state is .
(1)  Madhya Pradesh (2)  Chhattisgarh
(3)  Jharkand (4) Rajasthan

In the following which is the highest peak in the Arvalli Mountain?
(1)  Gurushikhar (2) Dhupgarh
(3) Panchmarhi (4) Kalsubai

Island from the Andaman group is the only example of active volcano in India.

(1)  Minicoy (2) Barren

(3) Cannanore (4)  Amin divi

In Karnataka on river Sharavati's water fall is

(1)  Zenith falls (2) Dhuandhar falls
(3) Jog falls (4) Shivsamudram falls
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137. YA Haid Aie M I3 S0

(1) | e (2) i ER
(3) R EEK (4) R TR
138. i, Hrlesh TSI AGAYS hiedld U= qraer=al FT TRUTTd.
(1) =il =R &l (2) smHEd
(3) FosaTEl UIHH (4) HTererHTET
139. 3fed TsAq HeAqT=AT UfteHE HEMEET IUNUATT STeial Jehed :
(1)  SITIHaTE! Jehed (2) feUgs e
(3)  WTShT-ARTEt Sehed (4) TR @R e
140. ITSETAT GUATER TGS ST IAE TR,
(1) AeaT= Tt (2)  |E A
(3) A / forwa It (4) frafg ot
141. YRAT ATeh TATET JU0 HHH IATEAT 378,
(1) 3u (2) @Rt
(3)  wedreuTE (4) wfm
142. YRATA Ul Ag-uiele $RE@ET _ ToAd $odl AT & el
(1) ufyem sma (2) TEIICW
(3)  nfwn (4) I e
143. ufvayg dfHfthe mgEmRIdd gafq @a T gL
(1) et et at (2) wfEmEn ot
(3) g1 mat (4) u>y defem mat
144. g% fagegea 9@ sTeedl.
(1) =&t (2) =m
(3) wewT (4) A
145. SUWAYS MG SaaEE
(1)  remt (2) e Fehefimis
(3) Teeefermm (4)  piomm
146. I, HREHER, ITEqh o ATKIRWOT 8 UIH 3Ted.
(1) i (2) @ISR
(3) wmld® (4) TIHR
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137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

The largest fresh water lake in India is :

(1)  Sabhar lake (2) Pagog lake

(3) Lonar lake (4) Wular lake

In Kerala and Karnataka pre-monsoon showers are called as )

(1)  'Coftee Blossoms (2) Mango Showers

(3)  Valeev rains (4) Kalbaisakhi

To the west of Sambalpur in the state of Orissa, on the Mahanadi ___ project is
developed.

(1)  Jaikawadi Proejct (2) Hirakud Proejct

(3)  Bhakra-Nangal Project (4) Damodar Valley Project

Farming which is entirely dependant on rainfall is called as
(1)  Plantation farming (2) Intensive farming
(3)  Dry farming (4) Subsistence farming

In India Karnataka rank first in the production of .
(1) Milk (2) Wool
(3)  Pisciculture (4) Silk

In India the first modern iron and steel factory was started at Kulti in
(1)  West Bengal (2) Madhya Pradesh
(3) Orissa (4) Uttar Pradesh

In the West Pacific ocean world's deepest trenchis .
(1)  Puerto Rico (2) The Mariana Trench
(3)  Sunda deep (4) South Sandwhich trench

trees are found in Equatorial forest.
(1)  Chestnut (2) Teak
(3) Mahogany (4) Pine

Active Volcano in Japan is .
(1)  Katmai (2) Mount Kilimanjaro

(3)  Vensuvius (4) Fujiyama

Factor's like Agriculture, Industries, Transport and Urbanization are commonly known as

factors.
(1)  Economic (2) Social
(3)  Physical (4) Political
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147.

148.

149.

150.

FHAYS AL TAATTId ARG Tohedl THh % 3TTR.
(1)  0.5% (2)
(3)  70% (4)
Te AT AT faepEma B ehgferg 3Tl
(1) waw (2)
(3)  Fommt (4)
YT ShiATedE " YNGR 318 TR,

(1)  sredterd (2)
(3) dfafthera (4)

IRl ITRWIHYT Fga argremmshET I wr fHaer.
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40%
100%

f&dt werEmrE
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147. In Vaticancity how may percentage of foreign born population?

(1) 0.5%
3) 70%
148. s a centre in all kinds of development.
(1)  Region
(3) Nature

2

149. Panama canal is called “Gate way of the
(1)  Atlantic ocean
(3)  Pacific ocean

(2) 40%
(4) 100%
(2) Man

(4) Transportation

(2) Indian ocean
(4) Arctic ocean

150.  Find out the instrument and proper number of Aneroid Barrometer.

(1)

(=

g
4
&

|

(3)

.89

VRN

o

(2)
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